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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

SECTION - A

When a light ray passes obliquely through the atmosphere in an upward direction,
how does its path generally change ?

Name the fourth (4th) member of alkene series.

Which of the following materials are biodegradable ?
Glass, leather, glucose, silver foil.

Name the group of chemical compounds which adversely affect the ozone layer.

A person cannot see clearly objects beyond a distance of 1.2 m. Name the defect of
vision he is suffering from. What would be the power of correcting lens used to restore
proper vision ?

State laws of refraction of light.

(a)  Which colour is deviated the (i) most and (ii) least, on refraction through a glass
prism ?

(b) Draw a diagram showing refraction of a ray of light through a glass prism and
mark the angle of deviation.

List four ways in which management of fossil fuels differ from natural renewable
resources of energy.

(i) What is the position of hydrogen in the Modern Periodic Table ?

(i) Where are isotopes of the same element having different atomic masses placed in
the Modern Periodic Table ?

An element X has atomic number 19.

(a) Write its electronic configuration.

(b) To which group of the modern periodic table does it belong ?

(c) State the nature of the compound formed by element X with chlorine .
(d) Write the valency of element X.

“Industrialization is one of the main cause of deterioration of environment”. List any
four reasons in favour of this statement .

In a bisexual flower inspite of the young stamens being removed artificially, the flower
produces fruit. Give reasons.

(a) Name the parts of the flower which ripens to form fruit and seed ?
(b) In the following diagram label A and B.
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14.

15.

16.

17.

18.

19.

20.

State the relationship between focal length and radius of curvature of a spherical
mirror.

Why is the refractive index of a medium always greater than one ?

A lens has — 4D power. Is the lens concave or convex ?

Ravi kept a book at a distance of 10 cm from the eyes of his friend Hari. Hari is
not able to read anything written on the book. Explain why.

A lens of focal length 5.0 cm is being used by a student in the laboratory as a
magnifying glass. His least distance of distinct vision is 25 cm. What magnification
is the student getting ?

How many minimum rays are needed to construct an image by a spherical mirror ?
Justify your answer giving an example.

What happens to the speed of light when it undergoes refraction. (i) from rarer to
denser, (ii) from denser to rarer.

What is saponification ?
Write differences between soaps and detergents under the following heads -
(i) Chemical composition.

(i) Action with hard water.

A part of modern periodic table is given below. Answer the following questions based
on this table.

H

Li

Be B C N @) F Ne

Na

Mg | Al Si P S Cl Ar

NN~ e S
Dz

Why do H, Li and Na show similar properties ?

Atomic size of Mg is bigger than Be. Why ?

Why are He, Ne and Ar called noble gases ?

Write a common name of the family to which F and CI belong.

Write the trend of non - metallic character in the horizontal row from Na to CI.

How does the atomic size vary as we move from Li to F in the second period of
the periodic table ?

What is regeneration of an organism ? Describe with a neat diagram different steps of
regeneration in Planaria.

Guinea pig having black colour when crossed with guinea pig having same colour
produced 100 offsprings out of which 75 were black and 25 were white. Now find out.

(a)
(b)
(©)

What is the possible genotype of the guinea pig ?
Which trait is dominant and which trait is recessive ?

What is this cross called as, and what is the ratio of F, progeny obtained from
these cross ?
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21. (a)
(b)

What are fossils ?

How do we determine the age of fossils ?

22.  Name the type of sex chromosome present in

(a)
(b)

(©)

23. (a)

(b)

24. (a)

(b)

Human male and Human female.
What will be the sex of offspring if sperm carrying X chromosome fertilizes the
egg ?

Name an animal in which individuals can change sex. What does it indicate ?

A divergent lens has focal lengths of 20 cm. At what distance should the object
from the lens be placed so that an image is formed 10 cm away from the lens ?
What is the magnification produced by the lens ?

Draw a ray diagram to show the position and nature of the image formed by a
convex lens when an object is placed between optical centre and focus of the
lens.

OR

An object 5.6 cm in length is placed at a distance of 20 cm in front of a convex
mirror of radius of curvature 36 cm. Find the position of the image, its nature and
size.

Draw a ray diagram to show a virtual image of %th the size of an object 4 cm

high, using a spherical mirror. Mark the position of the object, image and focal
length.

Complete the following reactions and name the main product formed in each
case.

() CH,COOH + NaOH - "
(i) C,HOH+O0, _ +
(i) CHL” N CH 2 D]]]Patalyst -

3 3

What is covalent bond ? How many such bonds are present in ethane ?
Write two characteristic features of covalent compounds.

OR
Answer the following questions in one sentence or one word.
(i) What type of organic compounds show substitution reaction ?
(i) How will you convert ethanol into unsaturated hydrocarbon ?
(iii) How is carboxylic acid different from mineral acids ?

With the help of electron dot representation explain the formation of O, molecule.
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25. (a) In the given figure label the parts A,B,C and D and state in brief the functions of
each of these parts.

(b) Name two surgical methods of birth control ?
OR
(a) In the given figure label the parts A,B,C, and D

(b) What is vegetative propagation ? Where does this method of reproduction finds
its application ?
(c) List any two advantages of vegetative propagation.

SECTION - B

26. Rajeev determines the focal length of a device ‘X’ by focusing the image of a distant
object on the screen as shown in the figure . The device X is.

X
Screen
_
(a) Convex lens (b) Plane mirror
() Convex mirror (d) Concave mirror
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27. While tracing the path of a ray of light passing through a rectangular glass slab, the set
up in which a student will get the best result is shown in :

Py

3
N
}-U
=
}U
N

@ A (b) B (€ C (d) D

28. To find the focal length of a convex lens the four students I, II, III, and IV obtained the
image of the distant window on the screen. They measured the distances as given
below between the :

() - Window and the lens only

(I) - Lens and the screen only

(III) - Window and the screen only

(IV) - Window and the lens and also between the lens and the screen

Correct value of focal length will be obtained by :
(@ 1 (b)y 1I (c) 1 (d 1v

29. A student performs an experiment on finding the focal length of a convex lens by
keeping a lighted candle on one end of laboratory table, a screen on its other end and
the lens between them as shown in figure. The positions of the three are adjusted to get
a sharp image of the candle flame on the screen.

If now the candle flame were to be replaced by a distant lamp on a far away electric
pole, the student would be able to get a sharp image of this distant lamp on the screen
by moving.

Screen (S)

Candle (C) Lens (L) l
.

10

) The screen in the direction of the lens or the lens in the direction of the screen.
(b)  The screen in the direction of the lens or the lens away from the screen.
() The screen away from the lens or the lens in the direction of the screen.

(d) Neither the screen nor the lens.
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30. In the experiment to trace the path of a ray of light through a rectangular glass slab
using pins P; P, P;jand P, four students did the following:

(a) Looked at heads of P; and P, while placing P; and heads of P}, P, and P; while
placing P,

(b)  Looked at feet of P; and P, while placing P5 and feet of P;, P, and P; while
placing P,

()  Looked at heads of P, and P, while placing P; and feet of all the pins while
placing P,

(d) Looked at feet of P; and P, while placing P; and heads of all the pins while
placing P,

The correct procedure is that of student :

@ (A (b) (B) © (© (d) (D)

31. Some crystals of copper sulphate were dissolved in water. The colour of the solution
obtained would be :

(a) Green (b) Red () Blue (d) Brown

32. Aluminium pieces are added to ZnSO, ,CuSO, and FeSO, solutions as shown below:

Observation I II I
Solution after |Colourless|Colourless|Colourless
reaction

Metal deposited Zn Cu Fe

Which of the following is correct conclusion ?

(a) Al is more reactive than Zn, Cu, Fe

(b) Al is more reactive than Zn and Cu but less reactive than Fe :
(c) Al is more reactive than Cu but less reactive than Zn and Fe :
(

d) Al is more reactive than Cu and Fe but less reactive than Zn :

33.

(@) TIandII (b) 1II only (c) IV only (d) IIand IV
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34.

35.

36.

37.

Kamal, Jyoti, Neha, Ruby observed the colour and odour of acetic acid and made the

following observations.

Student [Colour of Acetic Acid |Odour of Acetic Acid

Kamal |Blue Fruity

Jyoti Colourless Smell of Vinegar

Neha |Light Green Odourless

Ruby  |Light Yellow Rotten Egg

Whose observation is correct ?

(a) Kamal (b)  Jyoti (c) Neha (d) Ruby

Zinc granules are placed in each of the four test tubes A,B,C and D as shown. Change
in colour would be observed in :

A B C D

°,% 2,% °,% °,%
Al, (SOy), Zn SO, Cu SO, Fe SO,
(@) AandB (b) BandC (¢ Cand D (d Dand A

Four stages of binary fission in Amoeba are shown below. The stage at which nuclear
fission and cytokinesis are observed is :

4D

@ A (b) B (© C (d D

In the experiment on determining percentage of water absorbed by raisins, the soaked

raisins are wiped gently before final weighing. For wiping the raisins we should use :
(a) Dry cotton wool (b) Dry cotton choth

(c) Hot air blower (d) Filter paper
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38. A student while doing experiment to determine the percentage of water absorbed by
raisin obtained the following data :

(i)  Weight of raisins taken =10 g
(i) Weight of swollen raisins =16 g
(i) Percentage of water absorbed will be

(16-19)8 100 o (6-10)g
(a) log (b) l6g 100

(16 -10) g « 100 4 (16 -10) g o 1
(©) 10g (d) 10g 100

39. In Amobea binary fission takes place by the following steps :

(i)  the cellular constriction increases and divide the whole body into equal halves
and forms two daughter Amoebae

(ii) A constriction appears in the cell membrane and the nuclear membrane.

(iii) Each daughter Amoebae contains a nucleus surrounded by cytoplasm and cell
membrane

(iv) Nuclear constriction increases and divides the nucleus into two daughter nuclei.
The correct sequence is :

(@) (@), (i), (i), (@) (b) (i), (iv), (), (i)

(© (i), (), @), ) ) (), ), (i), (i)

40. The correct sequence depicting the stages of budding in Yeast is :

A
(a) ABCD (b)

(d) CB,AD

41. Following daigrams were drawn by four students I, II, IIIl and IV on having seen a
prepared slide of budding in Yeast :

(o) (o)
&) ()
I m

I
Correct diagrams were drawn by
(@) IHand IV only (b) II IIl and IV only
(c) LI and IV only (d) all of the four

-00o0-
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10.

11.

12.
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13.

14.

15.

16.

17.

18.
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He

Li

Be B C N @) F Ne

Na

Mg | Al Si P S Cl Ar

a)
b)
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f)

(
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20.

21.

22.

23.

24.
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(ili) Ik Hafd STHieT H Tk T4 a1 § Sl hifvieheed 3R Hifeht foeet & fory 2 §1
(iv) TehT Fepe o ST © IR ifyek <t < Gdfa Tfuehi § faufea & <1 71

T 0T T HE AR

(@) (), (i), (i), (iv) (b)  (ii), (iv), (), (iii)

(©) (i), (iv), (i), (i) (d) (i), (@), (i), (iii)
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40. IR T o @t sTaeesti i fefad w dren 9et ST A ®

(a) A, B, C D b) A CD,B () A D,B,C (d C B A D

41. I ¥ gFHed HI TR WIEE <8 & a8 IR fomnfery 1, 1, 111, we v 3 T feu U s
g4 :

() (@)
ONNED
1 Ii III.

TE 3N TS g1 e U 9 feremeff € .

(a) had 11 TS IV (b) ke II, 111 T IV
(c) HIA L, I TE IV (d) G+t =
-00o0-
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